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General Instructions :
(1) All questions are compulsory.
(1i) Question number 1 to 5 are very short answer questions and carry 1 mark each.
(iii)  Question number 6 to 10 are short answer questions and carry 2 marks each.
(1v) Question number 11 to 22 are also short answer questions and carry 3 marks each.

(v) Question number 23 is a value based question and carry 4 marks.

(Vi) Question number 24 to 26 are long answer questions and carry 5 marks each.

(vii)  Use log tables, if necessary. Use of calculators is not allowed.

.  “Shicie IS Sl &7 deqd il & 2

What 1s meant by chelate ettect ?

2. = &1 e g Ot vH (IUPAC) AW faifaw
CH, — CH, — CHO

Write the [IUPAC name of the following :

CH, - CH, — CHO

3. 9 o gRE &S ed HH H ST il

UHEH, p-ATEZUHeA 3R p-2elgeH

Arrange the following in increasing order of basic strength :

Aniline, p-Nitroaniline and p-Toluidine

4. AeCl T W T SRR S T ¥ 0

What type of stoichiometric defect 1s shown by AgCl ?

5. THOYM T & ? Uk IS8T ST |

What are emulsions ? Give an example.
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6. TR WHTHE i FHOT [&fY &7 auF ST | TAPd TS STt 37T & 91 oy
TR ST € 2 ITTeha & {19 3T T-eh THIH0T fafEy |

ST

TICTRTEH SThIHE Tl SREIHIUT AT T U HifsTT A 3T (i) TSRS (i) H,S % 91
B STl STTHATeT & o718 3T FHISHON i [aiay |

Describe the preparation of potassium permanganate. How does the acidified
permanganate solution react with oxalic acid ? Write the 1onic equations for the

reactions.

OR

Describe the oxidising action of potassium dichromate and write the 1onic equations

for its reaction with (1) an iodide (11) H,S.

7. UYHTT | U g9 § 37T FSIeiiehIuT bl BRI [Rgy |

Write the mechanism of acid dehydration of ethanol to yield ethene.

8. T usl bt Uiyt feifad -
(i) ~ HIRT (x)
(ii) Ueh foera I Aieterdm (m)
Define the following terms :
(1) Mole fraction (x)

(11) Molality of a solution (m)
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0. SIRI 3T AR g TS AMTHAeT & (o X R & e e 3§ feaid § Sia digan
%l mol L™ 3T T9g = Ahvel | forar T &l |

Write units of rate constants for zero order and for the second order reactions if the

concentration 1s expressed in mol L' and time in second.

10. 11 2T ol SARE T
(i)  TRIEHRH i STULTT TSI <gd HH TAishd & |
(i) NF, U SOmeidt 981d & W] NC/, SR 0579 ¢ |
Explain the following :

(1)  Nitrogen 1s much less reactive than phosphorus.

(i1)  NF; 1s an exothermic compound but NC/, is an endothermic compound.

1. ‘SHEMNTEE § 7 aead eidl & 2 STelid foetd T | SFua SIfsharet s Ush STeT Y |

b

What 18 meant by ‘disproportionation” ? Give one example of disproportionation

reaction 1n aqueous solutions.

2. FeAfafEd S IUPAC 9 fafEn
(i)  [Co(NH,)]CL,
(i) [NiCL,]*
(i) K;[Fe(CN),]
Write the [UPAC name of the following :
(i) [Co(NH,)CI,
(ii)  [NiCl,]*
(iii) K,[Fe(CN),]
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3. = AifiTepl & o2 O T & (IUPAC) AT &l JITNTT -

(1) CH3 — (‘ZH — CH2 — CH3
Br

Br

(11)
Br

(m) CH,=CH-CH, -CI/
Give the IUPAC names of the following compounds :

(1) CH3 = (|3H — CH2 — CH3
Br

Br

(11)
Br

(ili) CH,=CH - CH, - CI

14, = ©UiaRo 9 6 STd & 2

(i) STcT FANTEE M siTel Uoehleiel |

(i) UfIeT HEIYEH FARES &1 WUA-1-37 |
(iil) O h UOH-2-3TT H

How are the following conversions carried out ?
(1  Benzyl chloride to Benzyl alcohol

(1) Ethyl magnesium chloride to Propan-1-ol

(1) Propene to Propan-2-ol
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15. = SARATsT § &7 3R [¢EU

PCI,
(iy CH,-CH,OH >2

OH

anhyd. AICI,
(11) + CH,— CI > 7

(ili) CH,— CI+ CH,CH,— ONa — ?

Write the major product in the following equations :

PCI,
(i) CH,-CH,OH >2

OH

3 anhyd. AIC/,
(11) + CH,— C/ > )

(ili) CH,— Cl+ CH,CH,— ONa — ?

16. WA ¥ Hagd 5= sl TR i ;

Deftine the following as related to proteins :
(1)  Peptide linkage
(1) Primary structure

(111) Denaturation

17. “SHIUTATERIESII’ U Shl ST ShifsT 2T SRS & & 3S@L0T ST |

Explain the term ‘copolymerization’ and give two examples of copolymerization.
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18. TOeaR fec SToe # foheliord 8iaT & | A% e TeT % K ol orars 4.077 ¥ 10~° cm &, ot
fea &7 3T (r) IRSioId iU |

Silver crystallises 1n fcc lattice. If edge length of the unit cell 1s 4.077 X 107° cm, then

calculate the radius of silver atom.

19. HA-IFR (M.W. 342) T 5 U9 Ot (FeTH YR W) Th 951 X & 0.877% =it o 91
TR & | X T SAUIeh YR UReheTd HifsTT |

A 5 percent solution (by mass) of cane-sugar (M.W. 342) 1s 1sotonic with 0.877%

solution of substance X. Find the molecular weight of X.

20. TH UIH HiS ATYHAT & 018 T TRRIH 60 s & | 3R o YRIFHH 50T i 39 1/10
Ak g2 U [ohdT 9T AT ?

The rate constant for a first order reaction is 60 s—*. How much time will it take to

reduce the initial concentration of the reactant to its 1/10™ value ?

21. T UShHT i AT hITST -
(i) SEead

(ii) TAFIHRIGH

(iii) TeUvseT wE

Describe the following processes :
(1)  Daialysis

(1) Electrophoresis

(1n) Tyndall effect
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22. 9 % 3T /T :
(i) U= % 4Ty | SHIEACse i T JiHeh 8idl ¢ 2
(i) ST TohaT 3R ¥ | 3T ST |
(iii) “SHIHCSRIR’ U & 9T dcad Bl § ?
SRIAT
AT T & [T sATE T o T T | 8 aTetl S Tshand fer@y |

Answer the following :

(1)  What 1s the role of cryolite 1n the metallurgy of aluminium ?
(11) Differentiate between roasting and calcination.

(111) What i1s meant by the term ‘chromatography’ ?

OR

Write the reactions taking place in different zones of the blast furnace to obtain Iron.

23. RS TeureH=el Wi H B & | Gl & (ol T80 | U @H H o8 $9 PRI [2fhal
I@T | 98 PO Ul fhan Ts- %1 Hvad fhar ST 39 TR & fo/d STANT o, /i 39
IMRT IFR 6 WS & | 961 diF UehR 1 IFRIEd T2ihal df | 38 U a1 a8 Pohleld Tle
ST 39eh ST -1 ST 9 |

(i) U T=.IW Ted T A8 I S ARST o F&f TRaT |
(ii) o STeReX o T o foFT UHET ga @IEAT RS & [o1d 3rad 21 2
(iii) SRR ¥ ST T I AT 0T UTqeATRTd &l & 2

Neeraj went to the departmental store to purchase groceries. On one of the shelves he
noticed sugar tree tablets. He decided to buy them for his grandfather who was a
diabetic. There were three types of sugar free tablets. He decided to buy sucrolose

which was good for his grandfather’s health.

(1)  Name another sugar free tablet which Neeraj did not purchase.

(1)  Was it right to purchase such medicines without doctor’s prescription ?
(11) What quality of Neeraj 1s reflected above ?
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24. (a) =1 ot ST NG iy

(i) p-AICTENUCERRS
(i)  4-ArIeTUe-3-89-2-3TH
(b) =T TR It § 3TaX SR & fotd Tt STt sl SieTg
(i) S=iE UfEg R TN |
(i) S~IceERS 3R THEHHAM
(iii) PHT 3R S=IIEeH UTAS

3T
(a) T AT Pl TEAT SRE HiTT
(i) WU 3TeH

(i) CH,CHO %1 "HTeISTH
(b) T hl 39 17 ARl § 8 EUART Ht ? GHE TIEAS FHHION I ST |
(i) ..CH, - CH;

(i) CH;—CH-CH, - CHO
|
OH

(m) \CH4CH,OH
(a) Draw the structures of the following :
(1)  p-Methylbenzaldehyde
(1) 4-Methylpent-3-en-2-one
(b) Give chemical tests to distinguish between the following pairs of compounds :
(1)  Benzoic acid and Ethyl benzoate.
(1) Benzaldehyde and Acetophenone.

(1) Phenol and Benzoic acid.

OR
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(a) Draw the structures of the following derivatives :

(1  Propanone oxime

(1)  Semicarbazone of CH,CHO

(b) How will you convert ethanal into the tfollowing compounds ? Give the chemical

equations involved.
(i) CH,-CH,
(i) CH,—CH-CH, - CHO
|
OH
(i) CH,CH,OH
25. (a) YU 16 % O WHERUGAT TIH A TSIl doqwe-dl 37ad arel J9 15 & a<al i
JoT | Y HF 9 & | UAT T § 2

(b) =T BT € 57 —
(i) ®ix H,S0, % CaF, ¢ STell ST & ?

(i) ToHT SIS TRhIeT ol SUNRATT H AR H SITHHAT Hl & 2

(ili) SIIH FARTES S Ca(OH), o | ST=RA ohAT STl & 2
AT
(a) T Bt HEEAT e it
(i) BrF,
(i) XeO,
(b) = U9l & I SIT0
(i)  PH,®! 379& NH, = #iash &g i & ?

(i) EATSTT U AR -1 8ld & 2

(iii) XeOF, I T=HT AT Hif>TT |
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(a) Elements of Gr. 16 generally show lower value of first ionization enthalpy

compared to the corresponding periods of Gr. 15. Why ?
(b) What happens when

(1)  concentrated H,SO, 1s added to CaF, ?

(1) sulphur dioxide reacts with chlorine in the presence of charcoal ?

(11) ammonium chloride 1s treated with Ca(OH), ?

OR
(a) Draw the structure of the following :

()  BrF,;
(1)  XeO,
(b) Answer the following :

()  Why 1s NH,; more basic than PH, 7

(n) Why are halogens strong oxidising agents ?

(1) Draw the structure of XeOF,.

26. A G° 3 e.m.f.(E) FHl IR BT A 25 °C W WS Mafd H 7 HeT | e I & -

Zn(s) | Zn**(aq) Il Sn**(aq) | Sn(s)

< 13T : E°

|
|
-
~J]
@)\
R’
[T]
O
[
|
-
=~
&

Zn2+/Zn_ | " Sn“"/Sn

31T F = 96500 C mol™’

ST

(a) U TaE-31Taed & aerd- & o arershal 3R HioR dTeishdl Sl ARy Hig |
JIEdT o G 3ok URe shl ST iU |
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(b) 3T TcAal=eh Tl o s UoT [oIHe ohl UNehioId hitslT fo7qH =1 3atafshar gial & :

Fe**(aq) + Ag*(aq) — Fe*(aq) + Ag(s)
ATeHAT T A G© 3R Joieh! Rieh 31 TReher i il |

(E° =0.80 V; E°

=0.77 V)
Ag'/Ag Fe " /Fe*

Calculate A G® and e.m.f. (E) that can be obtained from the following cell under the

standard conditions at 25 °C :

Zn(s) | Zn**(aq) Il Sn**(aq) | Sn(s)

Given: E° , ~=-076V;E* , =-014V

and  F=96500 C mol.
OR

(a) Define conductivity and molar conductivity for the solution of an electrolyte.

Discuss their variation with concentration.

(b) Calculate the standard cell potential of the galvanic cell in which the following

reaction takes place :
Fe**(aq) + Ag*(aq) — Fe’*(aq) + Ag(s)

Calculate the A G® and equilibrium constant of the reaction also.

(E* . =0380V;E° ,,
Ag /Ag Fe” /F

,,=0.77V)
C
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